
SAP ABAP table RELUC_DISTRICT {Kreis (TIVFKREIS)}

RELUC_DISTRICT

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

PARTNR_KATAMT [CHAR (10)]

BP000

MANDT [CLNT (3)]

PARTNR [CHAR (10)]
 RELUC_DISTRICT-PARTNR_KATAMT = BP000-PARTNR 

0..N

0..N

T000

MANDT [CLNT (3)]
 RELUC_DISTRICT-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 RELUC_DISTRICT-LAND1 = T005-LAND1 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 RELUC_DISTRICT-BLAND = T005S-BLAND 

0..N

1


